Homework set-12   (due Nov. 14)
12-1. Problem 6.9. (p266)

12-2.  Problem 6.30. (p286)

12-3. Learn to read the atomic energy levels. 

       Go to the website  http://physics.nist.gov/PhysRefData/ASD/levels_form.html
  to find the ionization energy of He. Also sketch the energy levels of 1s2s, 1s2p states, indicating the singlet states and triplet states, and the fine structure. Express all the energies in electron volts. You will learn how to designate a "state" in Helium atom now.

     Next go to find the energy level of Be. See how a state is being designated. What is the first excited state of Be.

  Note: It is conventionally to call  neutral atom as I, singly charged ions as II, …etc. Thus neutral helium is He I, He+ is called He II. So Be2+ would be Be III.

12-4. Problem 6.31 (p286).

   In part (d) of this problem you just need to show that it is indeed proportional to 1/R6.

12-5. Problem 6.36 (p289).

       (Ignore the spin of the electron in this exercise)

12-6. Problem 6.37 (p290).

     Just sketch the new eigenvalues and the degeneracy. No actual calculations are asked.
